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Question Number : 1 Question Id : 5447341 Display Question Number : Yes Is Question
Mandatory : No

Letf:R - R and g:R = R bedefined by f(x) = 2x+ 1 & g(x) = x* - 2 determine (gof)(x) =

f:R - R ot g:R ~ R d&vosredd f(x) = 2x + 1 8o g(x) = x* -2 R (gof ) (x) =

Options:

; u BN—B

5> & 4x* +4x -1
3 4x% +4x + 1
4 % 2x° — 4

Question Number : 2 Question Id : 5447342 Display Question Number : Yes Is Question
Mandatory : No
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Given the function f(x) = (a > 2) then f(x +¥) + f(x —y) 15 equal to

2 ’

X -X
f 08 008y, f(x) == T (@ >2) NS fx +y) +fx—y) &
TR
Options:

. u 4=
, % FO)
3 ¢ 2F00) f(y)

\ x FOFG)

Question Number : 3 Question Id : 5447343 Display Question Number : Yes Is Question
Mandatory : No

If f is a function defined on (0,1) by f(x) = min{x — [x],—x — [x]} . then (fofofof)(x) is

equal to ( [.] greatest integer function )

(0,1) @oddop f &R HHoado . f(x) = minfx — [x],—x - [x]} = A6WI (fofofof)(x)
& pATR008A. ( [.] 108 rg oy Habdw )

Options:

1. ¢ X
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4, % 2X

Question Number : 4 Question Id : 5447344 Display Question Number : Yes Is Question

Mandatory : No

n € N then the statement 8n + 16 < 2" is true for

nENeond 8n+ 16 < 2" DRIV ST Vb

Options:
It =
_ n=2e®
1, %
n=
n =3 e°¢d
2, % S
n =
n =6 e3d
3.¢
n =
 n=5e3d
4, %

Question Number : 5 Question Id : 5447345 Display Question Number : Yes Is Question
Mandatory : No
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¥ =3 1
The equation whose roots are the values oftheequation| 1 6 4 |=01s
1 3% 2
1 =3 3
1 6 4 [=0e3 2080050 FE/0, PCuImiv AAEEHIN
I & 3
Options:
, u X Xt 2=10

g X EX=2=0

2.

- x“+2x+2=0
P —x—2=

4. &

Question Number : 6 Question Id : 5447346 Display Question Number : Yes Is Question
Mandatory : No

; a ‘b T
Let a, b be non zero real numbers such that ab = 5/2 and given 4 = b g andA 4" =

20 I (1 1s a unit matrix). then the equation whose roots are a and b 1s

& —b
b a
D008, a,h W STV O SHIERN

@, b 00 TR Dod{ew ab = 5/2 VYA, A = 0 args AAT =201

Options:

5 8 xX2F10x+5=0

.-2 : - .
2‘¢2.1 +10x+5=0
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<
X —5x4+—=0
3. % .

> 5
X =2+ =0
4, % .

Question Number : 7 Question Id : 5447347 Display Question Number : Yes Is Question
Mandatory : No

{ -8 i & 2 2
fA=|2 1 -3|10B=|-5 0 «/|andB = A" then the value of @ is
1 1 i =2 8§
§ =1 1 (& 5 3
A=|2 1 -3 10B=|-5 0 «|208050 B =A4"" ewond. @ Jewd dods?
¥ 1 3 |1 -2 3
Options:
1. % 2
2. % 0
3.¢ 2
4, ® 4

Question Number : 8 Question Id : 5447348 Display Question Number : Yes Is Question
Mandatory : No
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(4 3 [T—a)
The rank of thematnx | 5 k 1 1s 1. then
6 3 (1+x)
(4 2 [(A—%)
5 k 1 0D A0S §6 1 evond.
6 3 (A+x)
Options:
5 1
kz?; x=?
1.9
e e B e
2, % .
' 5
T :{':_
3 % 5 =
” 5 1
fr— e e
4, % . .

Question Number : 9 Question Id : 5447349 Display Question Number : Yes Is Question
Mandatory : No

loga; loga, logas
If a,,a,,..a,are in G.P. then logay, logas logag | isequal to
loga; logag logag
loga; loga, logas
a, ,a,,..a, 0O MRICS° &ol. |loga, logas logag | Dewd
loga; logag logaq
Options:
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Question Number : 10 Question Id : 54473410 Display Question Number : Yes Is Question
Mandatory : No

(sin® —icos 0)? is equal to
(sinB® —icos0)® & RIATJDDE
Options:

" i> (cos 36 + isin 30)

cos 36 + isin 36

2. %
sin 36 — icos 36

i 3 . 1 .
i (—1i)° (cos 30 + isin 30)

Question Number : 11 Question Id : 54473411 Display Question Number : Yes Is Question
Mandatory : No
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Real part of (cos4 + isin4 + 1)2020 18

(cos4 +isin4 + 1)2020

GV, TR WFAW
Options:

' 22020 ;52020 5 452020

5 22020 (52020 5 154040

3 21020 152020 5 (54040

i 22929 552929 1 052020

Question Number : 12 Question Id : 54473412 Display Question Number : Yes Is Question
Mandatory : No

If (x® + 5x + 5)**° = 1 then the number of integers satisfying this equation is

(x* +5x +5)"*° = 1 2208600 Dodyd) 08B ¥ RrTesTed A Gotran ?

Options:
1% 2
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Question Number : 13 Question Id : 54473413 Display Question Number : Yes Is Question

Mandatory : No

Let f(x) = x* + ax* + bx + ¢ be polynomial with integer coefficients. If the roots of f(x)

are integer and are in Arithmetic Progression. then ‘a’ cannot take the value

f(0) = + ax® 4 bx + ¢ 03 iz dog), Mg Qrgoonien. f(x) = 0 Gws)

AFOIVL YT ST, 083G Gotd, ‘0’ L VAo TR D

Options:
—642

1%

v, 1214

1323

1626
4, %

Question Number : 14 Question Id : 54473414 Display Question Number : Yes Is Question
Mandatory : No

The sum of the roots of the equation 't —10e° +29¢* - 22e" + 4= 0is

e — 106 +29¢% — 22¢" + 4 = 0 %ECRY) APV VBB

Options:
. % log, 10

) 2log, 2
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« 108229

210og402

Question Number : 15 Question Id : 54473415 Display Question Number : Yes Is Question
Mandatory : No

If a person has 3 coins of different denominations. the number of different sums can be formed s

w8 .:;5§ Jarc 6 Sk Devdew o TE0 s 677 . @ TEADOS Q06\G DG

SNB30L Vo
Options:
1. % 3

2.« 7

3 % 8

4. % 3

Question Number : 16 Question Id : 54473416 Display Question Number : Yes Is Question
Mandatory : No

There are 7 identical white balls and 3 identical black balls. The number of distinguishable

arrangements mn a row of all the balls. so that no two black balls are adjacent 1

W8 650N 7 SYR) L0800 BAIN 3 AYA) LoddL) &) 0. Totd DY) Lodoww
25) D9 TS0L" ) DEANLVTT w8 S’ 06y fodn?

Options:
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120
89.(81)
3. v 96

_ A RE

Question Number : 17 Question Id : 54473417 Display Question Number : Yes Is Question
Mandatory : No

The number of ways of distributing eight identical rings to three different girls so that every

girl gets at least one ring 1s

96 ©37)008 80 8 Goffdo SO . A BTN, 28 S 8
GofiEANVAY D) DS Dot

Options:

1‘\__,})21

Question Number : 18 Question Id : 54473418 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

Mandatory : No

el



AP EAPCET 2021

i B
(x Da=2) = f(x) +—+—2 then
x* o ( ) 3 A B 3
(x—1)(c—2) f x—1 x—2 o

Options:
. FOY= 357

f(x) =x*+3x+7

2.¥
. A+B=17
, « A—B=-18

Question Number : 19 Question Id : 54473419 Display Question Number : Yes Is Question
Mandatory : No

Tan 2e. Tan(30° — @) + Tan 2. Tan(60° — @) + Tan(60° — ). Tan(30° — a) is equal to

Tan 2a. Tan(30° — @) + Tan 2a. Tan(60° — @) + Tan(60° — a). Tan(30° — @) DenHd
AT

Options:

tan 3a

1.8

; tan® 2a — tan?® 60°

2. %

3.V
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4, %

Question Number : 20 Question Id : 54473420 Display Question Number : Yes Is Question
Mandatory : No

. . fvn I e
If sina — cos @ = m and sin 2@ = n — m?. where —V2 < m < /2. then ‘n’ is equal to

—V2 < m < V2 ondN sina — cosa = m 8akw sin 2a = n — m? vand ‘n’

DenHL) DATING

Options:
e 0

Question Number : 21 Question Id : 54473421 Display Question Number : Yes Is Question
Mandatory : No

The value of “x’ satisfying the equation 3 cosec x = 4 sin x are

3 cosecx = 4sinx “abaédc?:);l 5y9D0B “x’ AINE) DL

Options:
T
—, —

1.5 B 3

2. %
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Question Number : 22 Question Id : 54473422 Display Question Number : Yes Is Question

Mandatory : No

; 1
=3
Ll [ 1+1.2

SF 3
| 7
Options:

1

n+1

n
n+1

n+2

n
n+2

‘ 4 Tan} ] + 4 Tan™ [

] + Tan™? [ . ] 4+ Tan™ [

1
1+n(n+1)

1
14n(n+1)
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Question Number : 23 Question Id : 54473423 Display Question Number : Yes Is Question
Mandatory : No

If sinh u = tan 6. then cosh u 1s equal to

sinhu = tan 6. @00 cosh u O VITIIE

Options:

—sec B

1. %

5> sect

;3 % Sind

cot @

Question Number : 24 Question Id : 54473424 Display Question Number : Yes Is Question

Mandatory : No

3
In a triangle ABC,1ifa =3,b =4 and sinA = = then ZCBA =7

3
D20 ABC &° a = 3,b = 4 SH08aiw sin4 =?£.‘JQJJ€§ LCBA =7

Options:

1, % Q0

2.8

3.9 20

45°
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Question Number : 25 Question Id : 54473425 Display Question Number : Yes Is Question

Mandatory : No

In AABC. A = 75° B = 45° then the value of b + cV2 =

ABC Qz02506° A = 75° B = 45° @and b +cV2 =

Options:
a

1.8

5> % oa

3 @ 20

4 % 4a

Question Number : 26 Question Id : 54473426 Display Question Number : Yes Is Question

Mandatory : No

In AABC. suppose the radius of the circle opposite to an angle A 1s denoted by ry. simularly

r, & angle B, r; & angle C. If *r’ 1s the radius of inscribed circle then, what 1s the value of
ab-ryr;

I3

28 Qaoadn ABC & 1,15, 13 00 SERIT 4, B, C S50 dST (o) erie 53

ab-rym

= QR0 doth?

mﬁ&omw, r oS0 9y 353"0:.‘1» 22008,
A = @

I3
Options:

. x 17273
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2
TT'E
: P

3, % .
r

4. % 2

Question Number : 27 Question Id : 54473427 Display Question Number : Yes Is Question
Mandatory : No

A vector makes equal angles @ with x and y axes and 90° with z — axis. Then @ =
28 DOF 1, Y 0EI00E DATI @ §0an BAF z 04508 90° s B a =
Options:

- 60° or 120°

30° or 150°

3 45° or 135°

4.8 =

Question Number : 28 Question Id : 54473428 Display Question Number : Yes Is Question
Mandatory : No
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Angle made by the position vector of the point (5, —4, —3) with the positive direction of X —
axis 18

X 0L30 678 638 (5,-4,~3) & Do) gva 6% 3 Sraw

Options:
T

2
. B

3 & 2

Question Number : 29 Question Id : 54473429 Display Question Number : Yes Is Question
Mandatory : No

If D, E and F are respectively mid points of AB, AC and BC in A ABC, then BE + AF is equal to

DzhvaanG” D, E 208050 F e & AB, AC Sodasw BC © 206 ALV D VRAVA AR

— —

) BE + AF =

Options:

1-JDC

— BF
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1 & -5
7BF
3. " =
: S
— | |
; W,
4.% ©

Question Number : 30 Question Id : 54473430 Display Question Number : Yes Is Question
Mandatory : No

If the volume of the parallelopiped formed by the vectors i +aj + k. j +akandai + k
becomes munimum, then a =

i4aj+kj+ak2bawai + k 26808 D6\E Dareds HUSAN WRDBATEHAD
SN a =

Options:

Question Number : 31 Question Id : 54473431 Display Question Number : Yes Is Question
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i B = BEERTER s R e ek
Ifa = .0 = ; . then angle betweena + b anda — b 1s
et = = ©owd, @ +b B @ — b © Boes Seasdw
Options:

, » 45°
5 20°
3, & B
4, ® o

Question Number : 32 Question Id : 54473432 Display Question Number : Yes Is Question

Mandatory : No

let@=1i+)+kb=1+3]+5kandZ =77 +9] + 11k then the area of
parallelogram having diagonals @ + bandb +7 is
T=i+j+kb=143]+5kB00c=7i49] +11k 208007 +b
200050 b +7 STV (0 WA\ DTV(AN*

Options:

‘/_ ¢
i P 4+/6 sq. units

> % 2v/6 sq. units

s % V6 sq. units
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2 6V6 sq. units

Question Number : 33 Question Id : 54473433 Display Question Number : Yes Is Question
Mandatory : No

fa=2i+)+3k. b=1+3] — kand? =37 — j — 2k then the value of

a=21+j43k b=1+43] - ka7 =31 -] —2k ©owd

ad @b TF
b.a b.b b.c|owsd:=
S n BN e

Options:

. % 2020

5 o 2OES

2 % 2030

. 1849

Question Number : 34 Question Id : 54473434 Display Question Number : Yes Is Question
Mandatory : No
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If T and b are two vectors such that | @' | = 2. | b ] =3and@ +th and@ —th are
perpendicular, where ‘t” is a positive scalar. then

T.b w3680 [T |=2]b | =3 ediommed. T +th Doty T —th & vowdbEe,
o0 ‘t’ GTE)S Vi3 220 dodd?

Options:
. |
1. %
-—
2. % 4
s 2
3. ¢ 3
2
4, ® ?

Question Number : 35 Question Id : 54473435 Display Question Number : Yes Is Question
Mandatory : No

The variance of the variates 112,116,120, 125, 132 about their A.M 1s
112,116,120,125,132 sooeow eﬂuS:&JQ‘SQJ“DJ &HrAow) D@g@ DD BVDG

Options:
58.8

1. %

2. % 60

. v 488
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61.8

Question Number : 36 Question Id : 54473436 Display Question Number : Yes Is Question
Mandatory : No

Which of the following set of data has least standard deviation?
& $08 BTroT VY D BTroT IS SN FA0rEls DBV God?

Options:
- 10,20,30,40

1. %

, % 2.4,6,8

2 % 3,6,9,12

i o LB

Question Number : 37 Question Id : 54473437 Display Question Number : Yes Is Question
Mandatory : No

12 balls are distributed among 3 boxes, then the probability that the first box will contain 3 balls 1s

12 o800 SR 3 :agms‘ GOURTED. B\ AEE) ::.eges‘ 3 08000 Gl 200 Roera(d

Options:

12(:3 %27
12
1. ¢ 3
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1263 % 29
310
12
CB
12
3. % 3
12
.
10
4% 3

Question Number : 38 Question Id : 54473438 Display Question Number : Yes Is Question

Mandatory : No

If the letters of the word REGULATIONS be arranged in such a way that relative positions of
the letters of the word GULATIONS remain the same then the probability that there are exactly
4 letters between R and E 1s

REGULATIONS e H63065°D R 208050 E © ot DOVIAT 4 LT Gobir
GULATIONS &° wgore) Fog .g":rw SrELT ba;)a 020050 0L Doer (S

Options:
3

55

1.8
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Question Number : 39 Question Id : 54473439 Display Question Number : Yes Is Question
Mandatory : No

A random variable X has the probability distribution

X 1 2 3 4 5 6 7 8
P(X)| 015 | 0.23 | 0.12 | 0.10 | 0.20 | 0.08 | 0.07 | 0.05

For the events E = {X is a prime number} and F = {X < 4} then P(EUF) is

5ey B\ S 03 & S0l Roerde DTRTV) sdA &) 6.

X 1 2 3 + 5 6 v 8
P(X) | 015 [ 0.23 | 0.12 | 0.10 | 0.20 | 0.08 | 0.07 | 0.05

R v E = {X 95d TR } %0808 F = {X < 4} 0% P(EUF)

Options:
1‘ \\;’}‘? 0177

5 087

, » G35

Question Number : 40 Question Id : 54473440 Display Question Number : Yes Is Question
Mandatory : No
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A die 1s tossed thrice. If event of getting an even number 1s a success, then the probability of

getting at least 2 successes is

28 FVE 3 TG ADESNTH. TS A0 DBROD] TN VDV I
SR 2 ROUre) TIPS (0 VoePid

Options:

4,

-

8

AP EAPCET 2021

Question Number : 41 Question Id : 54473441 Display Question Number : Yes Is Question

Mandatory : No

If the axes are rotated through an angle 45°. the coordinates of the point (2 V2, —3&) in the

new system are

OO 45° Eo oo Boko Ardd 3% Gy (212, -3V2 ) Doto i, £

ErPHSD

Options:

ol (3v3,-5)

2.
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(—d~b)
5 % (5\-‘?,—7)
n (7,—\.@)

Question Number : 42 Question Id : 54473442 Display Question Number : Yes Is Question

Mandatory : No

The sum of the squares of the ntercepts made the line 5x — 2y = 10 on the co-ordinate axes
equals

51— 2y = 10 &3 20¢89 Aros$0d § woddory TEv ST g
Options:

1.v 29

., 100

Question Number : 43 Question Id : 54473443 Display Question Number : Yes Is Question
Mandatory : No
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For three consecutive odd integers a. b and c. if the variable line ax + by + ¢ = 0 always
passes through the point (e, §). the value of @ + * equals

a, b, ¢ 0 J0re 6% B Y Do LW, QAT DOVO ax + by +c =0
VDVEP (, B) Dodod) ot TS, a” + f7 Deoid

Options:

Question Number : 44 Question Id : 54473444 Display Question Number : Yes Is Question
Mandatory : No

The line which 15 parallel to x-axis and crosses the curve y = y/x at an angle of 45° 15

Y-8 DATOSEIMT otar ¥ = x I5°D) 45° Erasnd’ $iodd 81 g0

Options:
1
}?:_
1, g
)’_i
I S
3% Y=1
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V= 4

Question Number : 45 Question Id : 54473445 Display Question Number : Yes Is Question
Mandatory : No

If 2x + 3y + 4 = 0 15 the perpendicular bisector of the line segment jomning the points
A(1,2) and B(a , f). then the value of 13a + 13f equals

A(1,2) 208030 B(a, f) Dotodosd §80 Bar otiaw 03”52; Un&ﬁmﬁsmdr‘b 0% 2x +
3y+4=0e00d, 13a + 13f Je0d

Options:

1 o —81

—59
9

4. % 81

Question Number : 46 Question Id : 54473446 Display Question Number : Yes Is Question
Mandatory : No

The equation of the pair of straight lines perpendicular to the pair 2x* + 3xy +2y* + 10x +
5y = 0 and passing though the origin 15

Suredoty) ot Jae 2x% +3xy + 2y% + 10x + 5y = 0 Barakorm) 8 wowrr
Giodk Baratir, AedSom
Options:

_— 2x% + 5xy +2y% =0
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2x% — 3xy + 2y% =
2.¢ i

- 2x% + 3xy + _1’2 =

2x% — 5xy + 2y% =0

4. %

Question Number : 47 Question Id : 54473447 Display Question Number : Yes Is Question
Mandatory : No

If the centroid of the triangle formed by the lines 2y + 5xy —3x* = 0and x + v = k is

1 13
(— ) "). then the value of *k” equals
18 18

2y + 51y — 3x% = 0 0o ¥ +y = k DOVGDLL 6,65 Gzhadn awg) SodarRdn
1 11

(E'E) eod. ‘k’ Ded

Options:
=3

1™

Question Number : 48 Question Id : 54473448 Display Question Number : Yes Is Question
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If ‘my" and ‘m,". (my > m,) are the slopes of the lines represented by 5x% — 8xy + 3y% = 0.
then my * m, equals

5x% — 8xy +3y* =0 DOE6RA0 Arotd B0 T ‘my’ 0k ‘M, o Lo,

my i my = (my > m,)

Options:

Question Number : 49 Question Id : 54473449 Display Question Number : Yes Is Question

Mandatory : No

If the slope of one of the lines represented by ax? + 2hxy + by? = 0 1s the square of the other

a+b  8h?

+ab

then.

ax® 4 2hxy + by* =0 D6 Aol Savs 28 ae), T O’ G cE),

a+b 8h?
TS A6 ond. + =
n ab
Options:
1. % 3
2. ® -
3. .
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4, %

Question Number : 50 Question Id : 54473450 Display Question Number : Yes Is Question
Mandatory : No

Find the equations of the tangents drawn to the circle x 4 y? = 50 at the points where the
line x + 7 = 0 meets i,

X +7 = 0%6v8 x° +y° = 50 55y Docioid Dot I¢ & 2TAS A By6\3a0
ST

Options:
i 7x+y+50=0 & 7x—y+50=0

. XxX+y=0 & x—y=0
2. % g :

X+ 7y+5=0 & y—7x4+5=0
P,

x+7y4+50=0 & x=7y+50=0

4. %

Question Number : 51 Question Id : 54473451 Display Question Number : Yes Is Question
Mandatory : No

If the chord of contact of tangents from a point on the circle x* + y* = 1,% to the circle x* +

% = 1,2 touches the circle x° + v = % then ry, 1y, 13 are in

% 42 = 1% 3080 D8 Do, 1% + 12 = 1,7 6d dydo c&;g"ﬁ Gy &g, 1f 4yt =
137 TS R0y 89 O, YD 13,17, 13 &’ Gotraw
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Options:
AP
e908 3G

HP

‘."J“U"e:ﬁés 3G
2. %

GP

5. v O 3¢

AGP
€908 (eI 36
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Question Number : 52 Question Id : 54473452 Display Question Number : Yes Is Question

Mandatory : No

Find the equation of the circle passing through (1,-2) and touching the x-axis at (3,0).

(1,-2) Doto) ot T, x-0m) (3,0) Dockrid) 56 yy30id S HAECS:

Options:

 x XAy 6x—4y—9=0

, x X*ty*—6x—4y+9=0

3 x X2 +y*—6x—4y—9=0

4w X2y —6x+4y+9=0
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Question Number : 53 Question Id : 54473453 Display Question Number : Yes Is Question
Mandatory : No

Let L;be a straight line passing through the origin and L, be the straight line x + y = 1, If the

intercepts made by the circle x* + y* — x + 3y = 0 on L, and L, are equal. then which of the

following equations represent L,

Ly 3 28 3 2070 Dodsd) (ot oo 208050 L, 82 D0E6tam x + v = 1. &
Gotd 890 x% + % — x 4 3y = 0 Iy 61885 LoBEoET RATIZN, & §oi

FOS" D sder Ly D Ardon

Options:
x+y=0&x+7y=0

1. ® '
x—y=0&x+7y=0

2.V

 yx—=y=0& x+y=0
3. % : :

x—7y=0& x—y=0

Question Number : 54 Question Id : 54473454 Display Question Number : Yes Is Question
Mandatory : No

The radius of the circle whose center lies at (1,2). while cutting the circle x? + y® + 4x +
16y — 30 = 0 orthogonally. 1s units.

¥ 4y 4 4x + 16y - 30 = 0 3,g°9) vonS\do B, (1,2) 36 o) $DAS 280
QS), TG0 QP LD.

Options:

Va4l

1%
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Question Number : 55 Question Id : 54473455 Display Question Number : Yes Is Question
Mandatory : No

The point which has the same power with respect to each of the circles x + y% — 8x + 40 =
0. x>+ y2—5x+16=0and x* + y* - 8x + 16y + 160 = 0 is

4y -8x+40=0.x% +y2 —5x +16 = 0 basw x> + y* - 8x + 16y + 160 = 0
oo aagoé $06 Do) NS, Dotiysgren RAFDAW?

Options:

=15
=)
1. % 2

2.Y
(s:7)
3. % =
15
(-s7)
4. % 4
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Question Number : 56 Question Id : 54473456 Display Question Number : Yes Is Question

Mandatory : No
If one end of focal chord of the parabola y* = 8x is (% 2). then the length of the focal chord
15 units

y? = B Dordwo T 2| ), w8 DS (% , 2) 0008, & T &) T

VLNV

Options:

5
L V2
2. % Y
25
2

3.¢

Question Number : 57 Question Id : 54473457 Display Question Number : Yes Is Question
Mandatory : No

2 s _ . y _
If a point P(x, v) moves along the ellipse% + f}g = 1 and if ¢ 1s the center of the ellipse. then

the sum of maximum and munimum values of CP 1s

c oG 50 8 B 5,880 = +2-= 1D 8 Do P(x,y) 88, 8o CP
0308, (568 8050 S8 Dewde) AW

Options:
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Question Number : 58 Question Id : 54473458 Display Question Number : Yes Is Question

Mandatory : No

2 w2
~ y v
The asymptotes of the hyperbola — — — = 1, with any tangent to the hyperbola form a
- ﬂ, EJ'Z B - -

triangle whose area is a® tan(a). Then its eccentricity equals
xz

a?

DTV a® tan(a) ©ond. & OSHTHVAD &3), 068

i
2

= = 1 0800300828 o 23 )6, 308, &) ©desi6dne J6\S SHou)

Options:

sec(a
3 ()

> cosec(a)

3 % sec’(a)

 cosec’(a)
4. %

Question Number : 59 Question Id : 54473459 Display Question Number : Yes Is Question
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Mandatory : No

The ratio in which the YZ-plane divides the line joining (2,4, 5) and (3,5, —4) is

(2,4,5) 2080t (3,5, —4) Dot 5O Bararetry VZ-dwvo Jor J5R00!

Options:

2 : 3 mternally
213 oddSorr

3 : 2 mnternally
3 : 2 e9o&3Corr

3 : 2 externally
3 % 32 ePTerr

2 : 3 externally

5 i 283 eI orT

Question Number : 60 Question Id : 54473460 Display Question Number : Yes Is Question
Mandatory : No

The direction cosines of a line which makes equal angles with the co-ordinate axes are

Arosgod 23T Stren 59 2 65 §p:e

Options:

( 1 e 3 \
« V3 V3743

B

(*—1 -1 -1
5> % V3 43743
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Question Number : 61 Question Id : 54473461 Display Question Number : Yes Is Question
Mandatory : No

Let ‘0" be the origin and ‘P" be a point which 1s at a distance of 3 units from the origin. If the
direction ratios of OP are (1,-2,—2). then the coordinates of ‘P’ are

S0refotid) ‘0” Moow) 3 ArA drsaS” P’ Dok &) & Bk OP ciog) 68
oL (1,-2,-2) 0ond. ‘P’ a8, AArIEW

Options:

v My Ey=2)

, % (3,—6,—6)

(1 —2 —2)
3 % 5 3 3

(1 —2 —2)
4 9 9 9

Question Number : 62 Question Id : 54473462 Display Question Number : Yes Is Question
Mandatory : No
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Options:

1.%‘1

2.3‘51
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Question Number : 63 Question Id : 54473463 Display Question Number : Yes Is Question

Mandatory : No

72 —9* -8*+1

f(x) ={ Vv2—v1+cosx
klog2log3

Find the value of ‘k’ for which the function f is continuous.

k Bg), D DendH P VASEERANS Ardosed [ D) DICHAN?

Options:

=
1%*%2

. 24
x 18V3

g 24/ 2

x+0

=)
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Question Number : 64 Question Id : 54473464 Display Question Number : Yes Is Question

Mandatory : No

If the function f(x). defined below is continuous in the interval [0, 7]. then

So8 s oetd f(x) 200k [0, 7] Lodding’ ey dowd. e

i — n
Y+ay2(sinx) , 0<x <:'I
| i m
fix)={  2x(cotx)+b , —<x<—
- 2
. . . n
a(cos 2x) — b(sinx) , ?c'.j XEW
\
Options:
T T
e A ¢
- 6 12
—TT T
=g + b=1
2. % -
—Tr —Tr
B b
3. %
T —TT
B =iy
v, 6 12

Question Number : 65 Question Id : 54473465 Display Question Number : Yes Is Question
Mandatory : No
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If y = x + — . then which among the following holds?
X

1
e % ©0NS, BN S0d T°IS” DA D2d?

Options:

Bl e
_ Xy +2x)

2y +axy+2=0

2. %
iy —xy+2=
3.9 & .
2y +xy—2=0
4% XY XY ==

Question Number : 66 Question Id : 54473466 Display Question Number

Mandatory : No

V1+x? +vV1—x? d
If y=Tan . where x? < 1. Then ﬁlld'—x
' V1+x2 —y1—x2 dx
Vi+x2 +v1—x2 dy
Z< ] &S y="Tan * QNSd, — =
Fm R EETIER T et -l ' dx
Options:
% .. 3
—4—Cos 1(x%)
x4 2 |
T 1
— ——Cos™1(x?)
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Question Number : 67 Question Id : 54473467 Display Question Number : Yes Is Question

Mandatory : No

; dy .
If 3sinxy + 4cosxy = 5. then — 1s equal to

dx

d
3sinxy + 4cosxy = 5 00, =L Densd

Options:

3sinxy + 4cosxy

. 3cosxy —4sinxy

3cosxy + 4sinxy

4 cosxy — 3sinxy

8 |
_}_r
3. *
X
Jf
4, %

dx

Question Number : 68 Question Id : 54473468 Display Question Number : Yes Is Question

Mandatory : No
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o v x+1 ] EEITLE LN —
f(x)=vx?2+1; g(x) = TFRE h(x) = 2x — 3. Then the value of f [h (g (.1))] =
_ _ x+1 i b
f(x)=vx*+1; glx) = =1 h(x) = 2x — 3 wowd. f [h (g (.1))] I3V
Options:
e
1:. ™ va
2
5 V5
V5
3.8 2
L
4 % V5

Question Number : 69 Question Id : 54473469 Display Question Number : Yes Is Question

Mandatory : No

If the error commutted i measuring the radius of a circle 1s 0.05 %. then the corresponding

error 1n calculating its area would be

w8 38 TRTY) Svdded’ B33 0.05 % and. o PFofo feooud” seur
AR

Options:
1 % 0.05 %

" 0.0025 %
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o 0.25%
e

@ 0.1%

Question Number : 70 Question Id : 54473470 Display Question Number : Yes Is Question
Mandatory : No

The stationary points of the curve y = 8x% — x* — 4 are

y = 8x* —x* — 4 003 Sg50 o), fgcs (562 e0d) Dot HYordBW.

Options:

1. ¢ (0’ _4): (2, 12), (_2II 12)

5 % (0,4),(—2,12),(1,2)

. x (0,-4),(-1,2),(2,12)

s v ©,9,(-1,2),1,2)

Question Number : 71 Question Id : 54473471 Display Question Number : Yes Is Question
Mandatory : No
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Which statement among the following is true?
(1)  The function f(x) = x|x| is strictly increasing on R — {0}.
(1) The function f(x) = l::}g(1 X is strictly increasing on (0, ).
(111) A one-one function is always an increasing function.

(iv) f(x) = x/3 is strictly decreasing on R
0B DIVT LS’ DA Re(B0?
(1) f(x) = x|x| H30c0A0 R — {0} &° 306 esFLreaw.
i) f(x) = log,, 1% HAoBAW (0, ») &° G 38 TP00).
(iii) DS PAODEAW DY ET &6 DAADEW.
(iv) R & f(x) = x'/? 308 038 HIoonIw.
Options:

7 o
2, % (i)
5w i)

4 & (iV)

Question Number : 72 Question Id : 54473472 Display Question Number : Yes Is Question
Mandatory : No

For which value(s) of ‘a’. f(x) = —=x*® + 4ax? + 2x — 5 is decreasing for every ‘x'?

Vx €ER & f(x) = =23 +4ax? + 2x — 5 D000A0 958500 ©9:)05) STHND ‘a

MWV

Options:
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L (1,2)

% G0

No value of ‘a’

‘@’ OIE) D DVIDTT° OIG(AW
4.

Question Number : 73 Question Id : 54473473 Display Question Number : Yes Is Question
Mandatory : No

: " 2x 2 :
The distance between the origin and the normal to the curve y = ™ + x” drawnatx = 0 1s
units

x=036y=e" +1" 35708 A edvotdHD Suredoti) ol o Er
LN

Options:
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Question Number : 74 Question Id : 54473474 Display Question Number : Yes Is Question

Mandatory : No

dx 1 ,
If [ = — Sec™1(x¥) ,then the value of k =

) #{yxt—=1 k
(Va*-1)

’- ( d:_) — % Sec™(x%)
I oxlvxT—1

Options:

1

1%

Question Number : 75 Question Id
Mandatory : No

e t3)
’(x+m3 B

Options:

ex

N2
. (x +5)

+ c
1

eX(x+5)* + ¢
2.

29003 |, k e

: 54473475 Display Question Number : Yes Is Question
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Question Number : 76 Question Id : 54473476 Display Question Number : Yes Is Question
Mandatory : No

P (e —T1)2 |
If J (('12 - 1'))2 dx = Tan"*(x) + g(x) + k ,then g(x) is equal to
X

Bt -1( |
J be g 2 Tl T woned glx) =

Options:

Tan™? (%)

Question Number : 77 Question Id : 54473477 Display Question Number : Yes Is Question
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1 — (cot x)%%% |
. [ s dx = —~log |(sin 1)202 + (cos x)2%%| + ¢, then 4 =

tanx + (cot x)20%

1 — (cotx)24
R it 12023 2023 oy
f tanx + (cotx) 2% dx = A log |(sinx)™™** + (cos x)™ [+ c oW A=

Options:
2020

1. %

, 2021

2 u 203

4 o 2023

Question Number : 78 Question Id : 54473478 Display Question Number : Yes Is Question
Mandatory : No

4
f{lx—z| oo e
2

Options:
1

1. %
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Question Number : 79 Question Id : 54473479 Display Question Number : Yes Is Question

Mandatory : No

1/2

[ st}

-1/2

Options:
, 2log (*/2)

Question Number : 80 Question Id : 54473480 Display Question Number : Yes Is Question
Mandatory : No

d*y
The solution of the differential equation P +y =0 1s
.
d®y
——3 +y =00ss0d DASBLANDL FGS5D
Options:
s b 3sinx +4cosx
gl
2.8 =

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAPCET 2021

_y=x+2
3. %" t
4 un T log x

Physics
Section Id : 5447342
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 81 Question Id : 54473481 Display Question Number : Yes Is Question
Mandatory : No

An electric generator 1s based on

bmsé 2R0LE BID BTCDHEIH0H?

Options:

Faraday’s laws of electromagnetic induction

JOE bmso@&baa DO AT
1.¢

Motion of charged particles in an electromagnetic field

- DANEODI 08 ESI0S” SIS SrTL VDI
2. %
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Fission of Uranium by slow neutrons
006 (20D ATHETrALOEB clGIaRe AIVS); DWDNE

Newton’'s laws of motion

i i wws (5o QoA

Question Number : 82 Question Id : 54473482 Display Question Number : Yes Is Question

Mandatory : No

Which of the following decreases. in motion on a straight line. with constant retardation?

28 ROV D V2 RSGRANS BIWD) w8 WP §0d TS B Ded Selotidan?

Options:

Speed

SC
1.¢

Acceleration

R
‘l%

Displacement

5o BA0
3. % @

Distance

AP0
4, ®

Question Number : 83 Question Id : 54473483 Display Question Number : Yes Is Question
Mandatory : No
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When a ball is thrown with a velocity of 50 m.s™* at an angle 30° with the horizontal, it

remains in the air for seconds. (take g = 10 m.s™%)

W8 BRI 28 008 50 m.s™ D8 §82 DATodBed 30°8 t0 BLLD JVOS , &
008 S’ ol oo (Adodgedmo g = 10m.s™°)

Options:

1.¢ 9

2‘ {'“' 2-5

. u 128

4 x 0.625

Question Number : 84 Question Id : 54473484 Display Question Number : Yes Is Question

Mandatory : No

One of the rectangular components of a force of 40 N is 20y/3 N. What is the other rectangular

component?

40 N wodw fo 68 SB06Ts6 oTud” 288 20V3 N. 8¢ B BAOTTE Vo Jod?

Options:

 x 10N

> @ 20N

5 % 30N

1 u RN
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Question Number : 85 Question Id : 54473485 Display Question Number : Yes Is Question
Mandatory : No

An object dropped in a stationary lift takes time t; to reach the floor. It takes time ¢, when lift

1s moving up with constant acceleration. Then

830 28" 6:3) 8D Woct WP 226 D b AP BB DA t;. N
S Onand P8 65 8D od: 2 B8 Lo t; Lowd

Options:

L; o1

1. %

, o 1>t

3 % 1 &1

| ey
48 W

Question Number : 86 Question Id : 54473486 Display Question Number : Yes Is Question
Mandatory : No

When a body 1s placed on a rough plane (coefficient of friction= ) inclined at an angle 6 to

the horizontal. its acceleration 18 (acceleration due to gravity = g)

$02 FArod6ANG 0 Sl B2 D0 M) A Ten du (g MHBSAD= |)
D WS SRV GotsdHA. T B[BHAw ( fodreebeo = g)

Options:

o g (sinf — pucosf)

5 u g (sin@ — cosf)
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, u BH (sinf — cos @)

" g (usinf —cos )

Question Number : 87 Question Id : 54473487 Display Question Number : Yes Is Question

Mandatory : No

A metal ball of mass 2 kg moving with a velocity of 36 kmph has a head on collision with a
stationary ball of mass 3 kg, After the collision. 1f both balls move together. the loss m kinetic

energy due to collision i

36 kmph Sriand 508 2 kg @02 5ORD w8 &) Lod, :)aau%aes‘ &3)3 kg
gaﬁv%' &DA% 2BEINE L0dE ANTPANE BDITBA BoBod. BDATSAN SETS ¢
Gocty todhoen $D% Hairey, ©dhrdo oo §6'\0wd (834

Options:
| % 407

5 & OB

, x 1007

4w 1407

Question Number : 88 Question Id : 54473488 Display Question Number : Yes Is Question

Mandatory : No
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' - w . . ?
A body of mass 8 kg. under the action of a force, 13 displaced according to the equation s = 3

m. where ‘t" 1s the time. Find the work done by the force n the first 4 seconds.

tz
8 kg @[3 0 8 S0 o HAE 8 SPH s = I dgodo BoBowod. t BIA

SO, AEE 4 PSS’ WL B BoHWED D

Options:
9d

1. %

& 1617

z 6J

4 % 314

Question Number : 89 Question Id : 54473489 Display Question Number : Yes Is Question
Mandatory : No

A particle of mass ‘m’, moving with a velocity ‘v' makes an elastic
collision in one dimension with a stationary particle of mass ‘m’. 1
During the collision. they remain in contact with each other foran £ {----
extremely small time ‘T". Their force of contact. with time 1

shown in the figure. Then F, =

‘m’ @33 $BA ‘v’ Sricws’ patredind) a8 snso m 0 : g 7
893 $0P 800" &) s Dedodion HoFoe o

@ @ @
DT80 Bvol. Trer 980 dvabw T & 09 WS 533696‘ &) 0. )

R0 R DY BrHRCAA. F, g HOrHN

Options:
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2mv

4mv

5 ¢ B

3mv
4T

Question Number : 90 Question Id : 54473490 Display Question Number

Mandatory : No

Which of the following type of wheels of same mass and radius will have largest moment of inertia?

8 (503 0Bk a°5a=gan $0R% & Sl O B%0 BTV (02 2EA] WASAN Giotdod?

Options:
Ring

1 &oi0200

Angular disc

5 HTTC DY,

Solid disc
DAY Z:)‘-‘fo

AP EAPCET 2021
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: Yes Is Question

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AP EAPCET 2021

Cylindrical disc
RS0 DY,

4. % @

Question Number : 91 Question Id : 54473491 Display Question Number : Yes Is Question
Mandatory : No

The sum of moments of all the particles i a system about 1ts center of mass 1s always

@5(0°3 oo DO 28 S(HNVY" O EL SIDMY VG WY

Options:

Minimum
s:)ga»

Zero
%\J"é&&&»

Maximum
riatgap

Infinite
900900

Question Number : 92 Question Id : 54473492 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): Two identical trains move in opposite senses in equatorial plane with same
speeds relative to the earth’s surface. They have equal magnitude of normal reaction.

Reason (R): The trains have different centripetal accelerations due to different speeds.

.3'3')6&‘-3 (A): Oot mdswamwa 0an wol B GOV FDEANT VAT
SEo0E SEBHAVT BreBar SuS’ HOIrBRLT) . 8 PATD HBATHAY (0
oot Loy §8A &) o

st (R) : ééscb DOV Tot) T ok :56563 90806 SOV $OR Gotron

Options:

Both A and R are true and R 1s a correct explanation for A
A 08080 R Godi 28 ©00d0. R, A £ 28900 D566

Both A and R are true but R 1s not a correct explanation for A

. A 208030 R Gocr 20 9005. R, A £ 2090008 5968 S°C0
o7

A i1s true. R i1s false
A D0 20008, R 28 200008 570

A i1s false. R 1s false
A D0 20008 5°CD S8 R 20 90008

Question Number : 93 Question Id : 54473493 Display Question Number : Yes Is Question

Mandatory : No

A spring 15 stretched by 0.40 m when a mass of 0.6 kg 1s suspended from it. The period of

oscillations of the spring loaded by 255 gm and put to oscillations is closeto (g =10m.s7%)

0.6 kg B3T3 DEPEANIYE A 0.40 m Fibdabecod. 255 gm dY B erdo
Sobrcd Do g VTG Two (ardr) _ (g=10m.s7)
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> % 48.6s

i 0.82s

, x 4865
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Question Number : 94 Question Id : 54473494 Display Question Number : Yes Is Question

Mandatory : No

A heavy brass sphere 1s hung from a spring and 1t executes vertical vibrations with period T. The sphere
is now immersed in a non-viscous liquid with a density (1/10)®* that of brass. When set into vertical

vibrations with the sphere remaining inside liquid all the time, the time period will be

w8 00D B Fvn A)oh o, Serabdond, T 36 deu Sodmren Baucid) 6.
1/10 & grridn Fogie 598 28d $DAD Hvand i:lga Gz 5:55006" Swoddaridw. )
RE0HANVE AP FFA B AV SoDTVR GHAE" Gondd, B30 TV dod?

Options:

=
)7

Unchanged

4 be% lelnS)
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Question Number : 95 Question Id : 54473495 Display Question Number : Yes Is Question
Mandatory : No

A particle 15 kept on the surface of a uniform sphere of mass 1000 kg and radius 1 m , The
work done per unit mass against the gravitational force between them is
[G =6.67%107' N.m%.Kg™?]

1m a{Rrgan Sodakw 1000 kg $3(0°3 o 808 v &Hddwo DG 28 St
GRG0, T8 K] MAE(EEn LErdS HBBOT I57es BT BRY DA
98) 500G [G = 6.67 X 107" N.m®.Kg™*]

Options:

3.35x 10710 J kg™!

1%

- —335%1071 3 kg™?
2. %
B67X 10 Lk
" 4

—335%x107° J.kg™?
4, ®

Question Number : 96 Question Id : 54473496 Display Question Number : Yes Is Question
Mandatory : No

The acceleration due to gravity at a height (1/20)™" of the radius of earth above the earth’s

surface is 9 m.s ™%, Its value at an equal depth below the surface of earth is

Zrad chog) D00 DA Zrad g avpganﬁ‘ 1/20 3 errin JB08" HEEE¢n
SPORaMT SBEAD 9 m. s 7%, Zrad GHB3VA BSD DA S35’ R Dewd dodh?

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el

Options:



AP EAPCET 2021

= 9 m.s

9.25 m.s 2

-2
, 95 m.s

4 % 9.8 m.s 2

Question Number : 97 Question Id : 54473497 Display Question Number : Yes Is Question
Mandatory : No

The Youngs modulus of a rubber string of length 12 cm and density 1.5 kg.m™ is
5 % 10% N.m™2. When this string is suspended vertically. the increase in its length due to its

own weight is (take g =10 m.s7?)

12 cm T, 15kg.m™ Jrogd SOAD 2,8 Se6 & cng), abofl easin

5% 10° N.m™. &8 e Jercdobeddd. o Jod groiw S0 oid’ ¢
FH60 (g =10 m.s™%mr Sn8od )

Options:
-10
i o 2.16 X 10 m

, % 96X1071 m

L x 96X107% m

216 X107 m
4, %
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Question Number : 98 Question Id : 54473498 Display Question Number : Yes Is Question

Mandatory : No

The lower end of a capillary tube 1s dipped into water and it 1s observed that the water i
capillary tube r1ses by 7.5 em. Find the radius of the capillary tube used, if surface tension of

water 1s 7.5 X 1072 N.m™*? Angle of contact between water and glass is 0° and acceleration

due to gravity 1s 10 m. s>

28 B398 AE), $odd W6 WO 3000 STV S TS E9aw I
7.5 cm. D8 s, BodS 7.5 X 1072 N.m™! wond, §33705 dws) a'*éﬁ“go (D T2
209 016,80 0° dokw g=10m.s™7)

Options:

1

o 0.2 cm

0.1 cm

2 ®

0.4 mm

3. =

0.2 mm

Question Number : 99 Question Id : 54473499 Display Question Number : Yes Is Question

Mandatory : No

An 1deal hiquid flows through a horizontal tube of variable diameter. The pressure s lowest

where the

28 G0 TOHOY £92:008 TRE0 $0A 28 £82 DATod0 FLAW B DITRR) 6.
0 D86 B I Gobnd?

Options:

velocity 1s highest

DI VS(BSorT eaQSo
q;;‘?
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velocity 1s lowest
DB VB[OV G

diameter 1s largest
TRA0 RSO %«ﬁlgﬁ)

velocity 1s intermediate
DABD HEFHI0T SN LE

Question Number : 100 Question Id : 544734100 Display Question Number : Yes Is Question
Mandatory : No

In a steady state. the temperature at the end A and end B of a 20 cm long rod AB are 100 °C

and 0 °C , The temperature of a point. 9 cm from 4 1s

20 cm T o AB sé. DG gw &)W, 83 4 96 100 °C 0Bk §3 B 3¢ 0°C

egga &) 8. A Aoc. 9 com Dot 3¢ egﬁga

Options:
. ¢ BEE

. 45°C
5 u BE

50 °C
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Question Number : 101 Question Id : 544734101 Display Question Number : Yes Is Question
Mandatory : No

If two rods of lengths L and 2L. having coefficients of linear expansion a and 2a respectively are

connected end-to-end. then find the average coefficient of linear expansion of the composite rod.

L 080w 2L Tepen sOA% ot sé.v axos), QQ}S 355 ) (EI5PeD SR a B0k 2a.
£90) GOl WG DBV SLNNLIGS &3 e:né& 59_:. aRg), VoD Qg% J’éé‘rb 850 wodh?

Options:

3a

av 3

Question Number : 102 Question Id : 544734102 Display Question Number : Yes Is Question
Mandatory : No

A system 1s taken from state-A to state-B along two different paths. The heat absorbed and

work done by the system along these two paths are Q; ,Q, and W, , W, respectively. then

w8 ;55;5';8 A el imaa Aot B o9 ;gaé B0t ;'33503 :srgu (o S :wawdé&. &
Boc) AXT® BT (irodd &N Bk S{:5% B3 Bosvedd Dvew ST y,Q,
0ao Wy, W, eweond

Options:
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1 % Q= Q:

2 x M=W;

BJQ1—W1=Q;:—W2

4% Qi+ W, =0, +W;

Question Number : 103 Question Id : 544734103 Display Question Number : Yes Is Question
Mandatory : No

A gas (y = 1.5) is suddenly compressed to (1/4)™ its initial volume. Then find the ratio of its

final to mnitial pressure.

y = 155008 w8 Traing) w80 &' naddareo & (1/4) dodosd
208 Dod A0, wand dod, §8 DT Sogf do Ayd dod?

Options:
1:16

Question Number : 104 Question Id : 544734104 Display Question Number : Yes Is Question
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A cylinder has a piston at temperature of 30 °C. There 1s all round clearance of 0.08 mm between the
piston and cylinder wall if internal diameter of the cylinder 1s 15 cm. What 15 the temperature at

which piston will fit into the cylinder exactly? (@, = 1.6 X 107°/°C anda, = 12 X 107%/ °C)

30°C 96 28 APDAY 28 MVHESIND (90%) 68h &) 8. 15 cm &0 TR 0 APHAN
AEos), Swiaws™ds i 0y AT (0 &P 0.08 mm. o el (10 3¢ Swiwso APDAY
&8 BT Hedood (4 =16x107/°C and &, = 12X 107/ °C)

Options:

. o 298°C

5 % 273 °C

2 % 305°C

4w EREAE

Question Number : 105 Question Id : 544734105 Display Question Number : Yes Is Question

Mandatory : No

A balloon contains 1500 m® of He at 27 °C and 4 atmospheric pressure. the volume of He at

—3 °C temperature and 2 atmospheric pressure will be

27°C 080100 4 TT-800 DESW 96 28 e 1500 m’ He raoy $9Aaing) 6.
~3°C 656 200010 2 TEI0 HEAKD 3¢ He TaRdY) WRHBAFHAD

Options:

_ 1500 m?®
.

. 1700m3

AP EAPCET 2021
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1900 m?3
3. %

3
4 2700 m

Question Number : 106 Question Id : 544734106 Display Question Number : Yes Is Question
Mandatory : No

The sources of sound A and B produce a wave of 350 Hz in same phase. A particle P 1s vibrating

under an influence of these two waves. If the amplitudes at P produced by the two waves 1s 0.3 mm
and 0.4 mm, the resultant amplitude of the point P will be, when AP — BP = 25 cm and the

velocity of sound is 350 m.s™.

Boct) 5 235" 4 200 B o 28 6538 350 Hz RS dbomedd 683
SR0T) . Do) B0 EPSANG w8 S P o0 Biwed. AP — BP = 25 cm
2080120 5 i 350 m. 5™ NP, P Dockoad) 3¢ Both) Bbore S0 Do
0.3 mm S0B0s 0.4 mm eawd, P Dot 56 208 5002 HBA Dod?

Options:

1 % 0.7mm

0.1mm

3 X 0.2mm

0.5mm
4. v

Question Number : 107 Question Id : 544734107 Display Question Number : Yes Is Question
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Mandatory : No

In a diffraction pattern due to a single shit of width *a’. the first minimum 1s observed at an angle
30° when light of wavelength 500 nm 1s incident on the slit. The first secondary maximum is

observed at an angle of

Déieoy ‘a” $9A% D8 DS S0 Doydad g 6", DB o 500 nm SBoi3G 0 0

5708 DS, 30° Sk 568 et 53%“'11 90900t a0. 20EE), Gtk riag»w AR
E'0:0 dodd?

Options:

e
sin~1—
2

o
SOy <
2.V 4

Question Number : 108 Question Id : 544734108 Display Question Number : Yes Is Question
Mandatory : No
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Which statement(s) among the following are mcorrect:
(1) A negative test charge experiences a force opposite to the direction of the field.
(11) The tangent drawn to a line of force represents the direction of electric field.
(111) The electric field lines never intersect.

(iv) The electric field lines form a closed loop.

& 308G’ VO T80/ T D)7
(i) 28 awes Dotk B350 £T°AS H(BD HIS WOIW DI Bk
(it) 28 DS L0 B AP 016,09, %) 6 DS £G B3 APDRE
(ii1) 20 B wEE"AS 58) Dot oS Bu)
(iv) DS 020 e Vodyd LYV G W

Options:

(i) only
e () BrEd

(ii) & (iii) only

Ly (i) & (i) 2rgd

(iii) only
R CHECE RS

(iv) only

X (iv) Sorgd

Question Number : 109 Question Id : 544734109 Display Question Number : Yes Is Question
Mandatory : No
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In the given circuit, if the potential difference between A and B 1s 80 V. then the equivalent

capacitance between A and B. and the charge on 10 uF capacitor respectively, are

583085 WIHWED S0k 4 Adoiw B © SVl ﬂ'eagcmes 3630 80V eand 4, B o
068§ oy 35y 2Bk 10 jF D6 s DY Devden WA

S I oy

12uF 10pF | SKF

_.B

Options:

g 4 uF & 133 uC

, x 164 pF & 150 uC

, o 15HF & 200 uC

4w YHF & 50 uC

Question Number : 110 Question Id : 544734110 Display Question Number : Yes Is Question
Mandatory : No

A cell of emf 1.8 volts gives a current of 17 A when directly connected to an ammeter of

resistance 0.06 . Internal resistance of the cell 1s

1.8 volts Dc:oémj)vs 20A0 DAY DLB0K A 0.06 0 TG €9~ abaémmg
NoTrHSw B 17 4 SJcangé DTN FRE. NN IS woaelfs“qsan Qodh?

Options:
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i P 0.046 Q)
0.066 O
®

0.10 O
b 4

10 O

Question Number : 111 Question Id : 544734111 Display Question Number : Yes Is Question
Mandatory : No

In which of the following case no force exerted by a magnetic field on a charge?
& 808 @ roocsoames*‘ 0T, 08 FSI0 B DAV WO DEIrHosecd?

Options:

Moving with constant velocity
0 D208 D) Ly

Moving 1n a circle

$)TS6 BGA0S” WD) 2
2. %

At rest

5 SUNE ?gw SEEONS

Moving along a curved path
ol wg:.mé‘ a&:malmbm
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Question Number : 112 Question Id : 544734112 Display Question Number : Yes Is Question
Mandatory : No

A long thin hollow metallic cylinder of radius R has a current { ampere. The magnetic imnduction

B away from the axis at a distance ‘r” from the axis varies as shown m

R a@gan $DAR w8 DU 80 B R Moor i 80506 © NS
D3P 8. T ©£50 ok T ErEAE” &) DoddY S¢ ol O 08 08 ‘B” &
& 308 TG B AP &?

(1) (11) (111) (1v)
Options:

v ®

), G
o (i)
4. % ()

Question Number : 113 Question Id : 544734113 Display Question Number : Yes Is Question

Mandatory : No
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The plane of a dip circle 1s Set in the geographic meridian and the apparent dip 1s 6, . It 1s then

set n a vertical plane perpendicular to the geographic meridian. The apparent dip angle 1s d,.

The declination 8 at the place is

w8 0TS B Surd) FHVS AIrdrds SvANE’ G\ ) LIS Sniw §y,
B0 ) £52 Vo) dVANY” FH Y4 Qi {80 BrAS VoBIADT eoi)é:a_)d) R
(sy35 05 St §, W00 &8 HBEIAW 56 BB 6

Options:

- tan *(tand; tanéd, )

~ tan"!(tané; + tand, )
2, "

tan~ ! (_tan & )

3 tand;

;g tan *(tan§, — tand, )

Question Number : 114 Question Id : 544734114 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): It 1s more difficult to move a magnet into a coil with more loops

Reason (R): This 1s because emf induced in each current loop resists the motion of the magnet
QRB0 (4): I8 WrY & 6) B otS'D3 LI 0did0Ry Sako) S S
5630 (R): QoS 2.8) 8 L)Y’ OBV @ & & woﬁaﬁ*gjoém SO A B0

Options:

Both A and R are true and R is a correct explanation for A

| A 208050 R Gocir RO, 208aK0 R €56 A $ 2B D56K
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Both A and R are true but R 1s not a correct explanation for A
A 208050 R Bodr ©OGHHD, 50 R 938 A & 200D Dd6 S0

A 1s true. R 1s false

o % A RBEDIG, 57 R DB 7

A 1s false. R 1s frue
A8 560 5°0 R 28a0&S

Question Number : 115 Question Id : 544734115 Display Question Number : Yes Is Question
Mandatory : No

Two inductors 4 and B when connected i paralle] are equivalent to a smgle inductor of nductance
1.5 H. and when connected 1n series are equivalent to a single inductor of mductance 8 H. Find the

difference 1n the inductances of A and B.

A 308050 B, Bott) E5"0R) Rareddo MMy Q8050 F68° AP Poiraeaw B\ T
as), 008 D05 JRVHL SERT 1.5 H 2odoto 8 H. wand 8 pdso Sdaw

Options:
3H

1, %
, % 75H

3.8 2H

4. 4H

Question Number : 116 Question Id : 544734116 Display Question Number : Yes Is Question
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A resonant frequency of a current 1s *f . If the capacitance 1s made four times the imtial value,

then the resonant frequency will become

8 SVOHAN AE) BRTE TRRYI(E f. BIDE ), Jed &9 vy 4 o
DS, 9T 3*:3»;3@5.3» 2000 ?

Options:

f

1o =

Question Number : 117 Question Id : 544734117 Display Question Number : Yes Is Question
Mandatory : No

The law which states that ‘a variation in an electric field causes magnetic field’. 1s

DS FBING'D A0y VoD 08 ET7Y) Seurs Bk B & Sod D LI
3DoTRVA?

Options:

Faradays law

i FEE DS

Bio-Savart Law

£)03085-0H6 Do
2, % =
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Moditfied Ampere’s Law

5 DIDOILIC D 300006 DOBASAD

Lenz's Law
° Tod QoA

Question Number : 118 Question Id : 544734118 Display Question Number : Yes Is Question

Mandatory : No

Radiation of wavelength 300 nm and intensity 100 W.m™* falls on the surface of a

photosensitive material. If 2 % of the incidant photons produce photo electron. the number of

; " ) ;
photoelectrons emitted from an area of 2 cm” of the surface is nearly

300 nm 8dorGG 3w 605 100 W. m” 838 o ddniw TE' wrg)mieg Ly
&0V DEIB. 2 % D8 Terden T’ QUFTI GSQ BONDS, 2 em’ DTV
(iR GBSV Aot WATHT JI) T T GTEPHD?

Options:
15 x 10*

14
5 @ 6.04 X 10

1.5 x 10*°
3, %

- 60.4 x 10*°
- 4

Question Number : 119 Question Id : 544734119 Display Question Number : Yes Is Question
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: : Ke? s
Potential energy between a proton and an electron 1s given by U = pe- £ then radius of Bohr's

orbit can be given by

70l
5 adean. o6 g v

28 TP 208050 28 DVS"0R Sd] %@mé U=
35&9m .

Options:
Ke’m
% B

6m2Ke?m
n3h?

2 Ke’m

4m2Ke?m

n3h2

4,

Question Number : 120 Question Id : 544734120 Display Question Number : Yes Is Question

Mandatory : No

A transistor 1s connected in common emitter configuration. The collector supply is 8 V and the
voltage drop across a resistor of 800 ) in the collector circuit 1s 0.5 V. If the current gain

factor ‘@’ 15 0.96. the base current 1s

28 DOIES0 esﬁ.}&d‘. e.gd 3):1‘5‘{0&))056 ROTFDAD BFAW. D6 Swodaw 0.5V &
B0 800 0 ot S B Sobak 2568 V6T 8Y. IS T &
58D ‘@ Dend 0.96 ond Brrd 30)56 DTN

Options:
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-5
o 26X 10 A
, % 36x107° A
. x 56X107° 4
-5
% 6.6 X10 " A
Chemistry
Section Id : 5447343
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 121 Question Id : 544734121 Display Question Number : Yes Is Question
Mandatory : No

If two particles A and B are moving with the same velocity. but wavelength of 4 1s found to be

double than that of B. Which of the following statements are correct?

A 08050 B 093 Botky SEren DArS Srred znanmai:). A Q38), eﬁdoﬁggsn B oans),

ejdomggéaé 8802y 003, S0t DIBTOS” A6 duaw?

Options:

1. %

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAPCET 2021

Both A4 and B have same mass
A S6ci» B o @‘35"‘*“’“ Aot P Pebh

Mass of A 1s half that of B

A 350°3. B gaﬁvaes‘ D50
2.V

Mass of B 1s half that of A

B c:sasoﬁa. A cmF%‘ 20500
3- 3@ - o

Mass of B 1s one-fourth that of A

B @540°3. A @;550“%‘66 TS Do
4, %

Question Number : 122 Question Id : 544734122 Display Question Number : Yes Is Question
Mandatory : No

The spectrum of Helium 1s expected to be similar to that of

oo ag:aeooé" b‘dr:::zgnrr &) SO

Options:
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Question Number : 123 Question Id : 544734123 Display Question Number : Yes Is Question
Mandatory : No

On the basis of Bohr’s model. the radius of the 3™ orbit is

&6 DBATED JSAPTD BTEHE, 3D SO :J"‘S.E!“g.m)

Options:

Equal to the radius of 1 orbit
15 85§ T(ATRS8 DATHIW

1%

3 times the radius of 1% orbit
15 845 T RTS8 3 580 DATHIW

5 times the radius of 1% orbit

15 84y avsiru“aé 5 B DATDAD
3. % - o

9 times the radius of 1% orbit

15 85 T(D°0°S 9 T VAT
4. =

Question Number : 124 Question Id : 544734124 Display Question Number : Yes Is Question
Mandatory : No

To which group of the periodic table does an element having electronic configuration
[Ar] 3d°4s*® belong?

w8 Srugo A0S, TS DTG [4r] 3d°4s” e SR &) &, AN 6H HEYse’
(oS’ Brénua.

Options:

Second

i Bodid
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Fourth
~ D0 g Pe)

Seventh

i LS

Third
P b e

Question Number : 125 Question Id : 544734125 Display Question Number : Yes Is Question
Mandatory : No

Given that 10nization potential and electron gain enthalpy of chlorine are 13 eV and 4 eV

respectively. The electronegativity of chlorine on Mulliken scale, approximately equals to

€65 aing), eawERS dorrdy 20Bak TS x| JoarByen SR 13 eV SBakw
4 el oo’ SwBsd Jyeods’ E85 dng) avndaxed) s

Options:

- 8.5eV

6.0 eV

2 o eV

4 % 1.5eV

Question Number : 126 Question Id : 544734126 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following represents the correct order of increasing electron gain enthalpy with
negative sign for the elements?
a. Nitrogen
b. Phosphorous
¢. Chlorme
d. Fluorine
& Sob rvse .Z)ug5 ez ao{p*ij b rn SArud’ HBAHIA AB?
a. 2
b, &Ry
c. §83
d. 83

Options:
 P<N<F<C(Cl

1. %

2_wN-:::'P«::'F--:::(,“Z

3 % Cl< F<< PN

Fell<N<P
4, %

Question Number : 127 Question Id : 544734127 Display Question Number : Yes Is Question
Mandatory : No

Which of the following will have maximum dipole moment?

308 T°05° B OB(BS BACEID PASIW sOh &) O ?

Options:

1. %
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NF,
N,
IVBT3

N H,

Question Number : 128 Question Id : 544734128 Display Question Number : Yes Is Question
Mandatory : No

In which of the following molecules/ions. the central atom is sp? hybridized?
Sos QIR e/ ATV, Sog HOITY) sp® 205856030 BeBIB IA?
BF; ,NO; ,NH; ,& H,0

Options:

.« NH; &H,0

. NO7 &H,0

BF. & NO3
R :

NO; ,NH;

4. %

Question Number : 129 Question Id : 544734129 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el

Mandatory : No



For which molecules among the following. the
resultant dipole moment (1) # 0?

$06 et Dl Byerdoso (1) # 0

A2 RV (1Bt

Options:
(iii) & (iv) only

o (i) & (iv) 20gd

(i) & (ii) only
5 % (1) & (ii) Srgddo

(ii) & (iii) only

3 % (i) & (iii) S

(iv) only
. (iv) Srgd
4. %

AP EAPCET 2021

Cl CN
Cl CN
M (i)

OH

OH

(iii)

SH

SH

(iv)

Question Number : 130 Question Id : 544734130 Display Question Number : Yes Is Question

Mandatory : No
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Which of the following graphs correctly represents Boyle's Law?
408 B DALY eranes AoDATIS AT &) 20?

A A A A

P PV PV PV

(a) (b) (c) (d)

Options:

(a),(b) & (c) only
;% @, (b) & () 2orgdo

(b) & (c) only
5 o (b) & (c) Soredd

(c) & (d) only
3 % (c) & (d) Soragd

(b) & (d) only

L B & (@ 3red

Question Number : 131 Question Id : 544734131 Display Question Number : Yes Is Question

Mandatory : No

The density of an ideal gas can be given by . Where P,V ,M, T and R respectively
denote pressure, volume, molar-mass, temperature and universal gas constant.

w8 fsdd;)a‘odna) 9680, DDHBATH0, Arerd gbgw%, eg‘g@ VleTov iV

T ORRT0$000 SARMT P, V, M, T 208080 R o), & J70i) Fold

Options:
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PM
b

PV

RT

RT
4.% PV

AP EAPCET 2021

Question Number : 132 Question Id : 544734132 Display Question Number : Yes Is Question

Mandatory : No
When 20 g of CaC0j; 1s treated with 20 g of HC. the mass of €0, formed would be

20 g © CaC03 &. 20 g © HCl & 6§ 260 A6\¢ €0, TS, GOo-3

Options:
10 g

1.%

Question Number : 133 Question Id : 544734133 Display Question Number : Yes Is Question
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Mandatory : No

Which among the following species acts as a self-indicator?

S08 2rOVS” DD V(O AL DABOIVA?

Options:

), % 1202

2. %

2 —

3. %

A MRO4

Question Number : 134 Question Id : 544734134 Display Question Number : Yes Is Question
Mandatory : No

If a chemical reaction 1s known to be non-spontaneous at 298 K but spontaneous at 350 K.
then which among the following conditions is true for the reaction?

8 B OIS 136§ 208 K 3¢ PGy ocSorT 260TED. 578 350 K 565 i yotsorr 26200,
WA, & B[ 308 835" QB Duo?

Options:
- AG = —ve, AH = —ve, AS = +ve
> % AG = +ve, AH = 4ve, AS = +ve

AG = —ve, AH = +ve, AS = +ve
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AG = +ve, AH = tve, AS = —ve

4. %

Question Number : 135 Question Id : 544734135 Display Question Number : Yes Is Question
Mandatory : No

Standard entropies of X, , ¥, and XV; are 60,40 and 50 J/K/mol respectively. At what

temperature the following reaction will be at equilibrium

X, , Y, 208050 XV; © 9880 ot oen S 60,40 S0daiw 50 J/K/mol o §ob 56
AT ?gae‘f GRS dod G IS ©SRGW?

X+ 2 XV, Al = =30 k]

Options:
500 K

1: =
, @ 750K

.« 1000K

, x 1250K

Question Number : 136 Question Id : 544734136 Display Question Number : Yes Is Question
Mandatory : No
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" 1 £
For the reaction 50y i - Oz(g) = 50y 5" the percentage 50,] b
yield of product at different pressures is shown n the figure, yield P,
Then, which among the following 1s true? S £
1 2 T
§025) + = Oz ® S03,) 9 acsses‘ &) S Bridexc,

TS50 DS DETV 56 H006" WrONAIB. $08 TS D Jods HPHA?

Options:

Pressure has no effect
| DED DDA Sokd

, « PL<Pr<Ps

3,VP1}P2.>P3

4 % P1:P2:P3-_r"—'0

Question Number : 137 Question Id : 544734137 Display Question Number : Yes Is Question
Mandatory : No

Which among the following denotes the correct relationship between K, and K, for the

reaction ZA[.g) =8 }+ C@

(g
2 A(g) = B(g) + C(g) WG{S0 K, 000K K, @ 206f RDotiotha

Options:

1'HKP>KC

5 g i B
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3, % Ke = (Kp)
o i

Question Number : 138 Question Id : 544734138 Display Question Number : Yes Is Question
Mandatory : No

Which metal oxide among the following gives H,0, on treatment with dilute acid?

$08 TS’ D S B DR BT SETBNY\W H,0, S0STE)R?

Options:

1. & BaOZ

, « RDO:

5 x MnO;

Question Number : 139 Question Id : 544734139 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): K. Rb and Cs form superoxides

Reason (R): The stability of superoxides increases form K to Cs due to decrease i lattice energy.

AB\S0 (A): K. Rb 308080 Cs 00 A8 8531k bcsbmam.
5000 (R): 2rog 38¢° b S0 K 2000 (s 68 Edé&n 2.

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el

Options:



AP EAPCET 2021

Both A and R are true and R 1is a correct explanation for A
. A Sobain R Gotr RDBADAD. 0B R 0938 A S DBADD DHGe

Both A and R are true but R is not a correct explanation for A
A 20803 R Gods 2BADID, O R 038 A & VOADA DG S

2. %

A i1s frue, R 1s false

. ARBIB, 50 R 28 5

A 1s false. R 1s true
, x ARDSTX®, 5 R 280058

Question Number : 140 Question Id : 544734140 Display Question Number : Yes Is Question
Mandatory : No

When borax 1s dissolved in water. 1t gives an alkaline solution. The alkaline solution consists

the following products

505130 ES" SBACKIT S50y T6 TRANS’ Goth) BT e

Options:

. x NaOH & BH;

, , NaOH & H;BO;

. « NaHCO; & H3BO;

4 » NaxCO; & H3BOs
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Question Number : 141 Question Id : 544734141 Display Question Number : Yes Is Question
Mandatory : No

Identify (P) and (Q) in the following reaction:

Cu—powder H,0
* (P) » (Q) — Straight chain polymer

CHsCl + Si
570 K

& 308 :5056‘ (P), (Q) S6vdrmr

Cu—Jé H,0 _
CH;Cl + Si » (P) » (Q) ——— 26¥ 300 D26
570 K

Options:
. P:(CH3),SiCl  Q:(CH,),SiOH

, o P:(CHy),SiCl,  Q:(CH,),Si(0H),

P: (CH3),SiCl, Q:(CH;),Si(OH)Cl

3. %

P: (CH;),SiCl, Q:(CHs),SiO

Question Number : 142 Question Id : 544734142 Display Question Number : Yes Is Question
Mandatory : No

Green chemistry refers to reactions which

B S AN TRV VotloBotdd Do

Options:

1. ¢
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reduce the use and production of hazardous chemicals
DA"BSE G DTV S0I0 LBOIN EDOTTHDN ShHote

study of the extremely slow reactions

9330 & WOV 58300t
2. %

are related to soi1l erosion
ZPa) S0 ST BT L0DANDL DotroBo)d DROIITeD

Study of green leaves
2950 D5\ e BFVotine)

Question Number : 143 Question Id : 544734143 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Sodium acetate on Kolbe's electrolysis gives ethane.

Reason (B): Methyl free radical 1s formed at cathode.

D2\ (A): Tdaso T E&y ekofBiam 96[% HBADT SED Doy,
600 (R): SEE 36 GG 2Ty FEHEE D6\,

Options:

Both A and R are true and R 1s a correct explanation for A

| % A 2508030 R Godir 2BADOD. 08030 R 0938 A S DBAD DH6e?

Both A and R are true but R is not a correct explanation for A
. A 208010 R Gotr 20GHAD, 5°0 R 0936 A & 20 D6 576

A is true. R 1s false

L ARBE8, 5 R %8 5o
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A 1s false. R 1s true

, « ARBT®, 5°0 R 208008

Question Number : 144 Question Id : 544734144 Display Question Number : Yes Is Question
Mandatory : No

When difference in boiling pomnts of two liquids 1s too small. then the separation s carried outby
e;qujem g%:re.: G T (0 ) 353 &) Tot) TV SQdodod (0" 2D

Options:

Steam distillation
20 Y f.:asc.‘m.:m

1. ™

Simple distillation
L TTEOE (R[N
i ™

Fractional distillation

9038 Eascsa‘);ﬁw
3.

Vacuum distillation

i :}U‘S@ ‘;‘::)Scsm‘.m

Question Number : 145 Question Id : 544734145 Display Question Number : Yes Is Question
Mandatory : No
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In Lassaigne’s test for halogens. it 1s necessary to remove ‘X" and V" from the sodium fusion
extract. 1f nitrogen and Sulphur are present. This 1s done by boiling the extract with °Z".
Identify X. Y and Z.

86, ) ¢o8” FS"udVE e, RS T H0\6 A o ot T &) aws,
SS" S0 Srgo HBoLS Jeurr, Sasrd B33 oo Ay g Srate Kol X’
SoBai V" & Sofiocdtis) saraird) Z' & bdfomd. X. ¥ 2080k Z en SR

Options:

X =NaNQO; , Y =Na,504 , Z = conc. HNO;
1 % X =NaNQO; , Y =Na,50, , Z =1r& HNO;

X =NaNH, , Y =NaSH , Z = conc. HCI

5 % X =NaNH, , Y =NaSH , Z =& HC

X =Na,NO, , Y =NaSO;H , Z = conc. H,50,
" X =Na,NO, , Y=NaS0;H , Z =G H,50,

X=NaCN , Y =Na,S, Z=conc. HNO;

. v X=NaCN , Y =NaS , Z =& HNO;

Question Number : 146 Question Id : 544734146 Display Question Number : Yes Is Question
Mandatory : No
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The following effect 1s known as

$od z:solsé‘ D HoA 7 @ADDODEIN.
®
H® > \C— C/
¥ & |
H
£—i —
e Y " S
O
CN_ \C— c
> | ™S
CN

Options:
Inductive effect

G

Electrometric effect

QO BS Herdo
2.  ©

Resonance effect
3 % o0& 353 Qa;"bc

Hyperconjugation

| 8 Doakar) A
4, %

Question Number : 147 Question Id : 544734147 Display Question Number : Yes Is Question
Mandatory : No

Which of the following will form an ideal solution?

BED BTG D 2ok BAG TIET) DOGDIIVE?
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C,HsOH & H,0

1. %

.« HNO3 & Hy0

, « CHCl; & CHyCOCH;

Cellg & CgH;CH
o o 615l 13

Question Number : 148 Question Id : 544734148 Display Question Number : Yes Is Question
Mandatory : No

The molal elevation constant is the ratio of Elevation in boiling point to

2o 683 Roogin, D T &) 98 b & o Aind

Options:

Molarity
2rerBe)

1. =

Molality

5 o e e

Mole fraction of solute

" T 2075 23
50"

Mole fraction of solvent

Traed 0°e ariadd
4, ®
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Question Number : 149 Question Id : 544734149 Display Question Number : Yes Is Question

Mandatory : No

When a current of 10 A 15 passes through molten AlC[; for 1.608 minutes. The mass of Al

deposited will be

(0 AlCl; orqoe 10 4 DAxS 9y 1.608 ddwaren H3ered B JHHED Al

93,30"9

Options:

s 009g

5 % 08lg

3 % 1.35 g

4 u 0275

[Algaﬁm% = 27g]

[Atomic mass of Al = 27¢]

Question Number : 150 Question Id : 544734150 Display Question Number : Yes Is Question

Mandatory : No

The molar conductivities (Afﬂ ) at infinite dilution of KBr, HBr and KNH, are 120.5. 420.6

and 90.48 S cm? mol™! respectively. Find the value of Ay, for NHj.

008 Do 3¢ KBr. HBr 2080ty KNH, © 3rerd Tirseqo (1) Denden Sdohr
120.5, 420.6 30805 90.48 S cm? mol™! and NH; ag) Ay, Jos?

Options:

, % 511.0 S cm? mol™

2

2 =
i 390.5 S em*“ mol
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3 ® 256.2 S em? mol™?

4 x 2409 Sem? mol™t

Question Number : 151 Question Id : 544734151 Display Question Number : Yes Is Question
Mandatory : No

If the rate constant for a first order reaction is 2.303 x 107 572, find the time required to

reduce 4 g of the reactant to 0.2 g.

8 DB §808 186[ a0, B Doroo e 2.303 X 107571, 4 g Sairavsan 0.2

Soiraser Ardbs) D Re0bo

Options:

1.30 hours
1.30 tSotend

21.60 hours
21.60 ot

0.36 hours
0.36 oo

2.60 hours
2.60 ot

Question Number : 152 Question Id : 544734152 Display Question Number : Yes Is Question
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A plot of log(x /m) verses log(P) for adsorption of a gas on a solid gives a straight line with a
slope of

28 mwgang 28 T050Y) AT A0 Dotk HEANL VotoBod log(x/m) Srdasw
log(P) © aiwg), Sarudo w8 VEVOR. T TW & Ao
Options:

. —logk

1.%

5 % log(1/n)

1

3.« N

- antilog(1/n)

Question Number : 153 Question Id : 544734153 Display Question Number : Yes Is Question
Mandatory : No
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Match the following compounds with their corresponding physical properties:

Column-I Column-II

(a) IBr (1) Orange sohd

(b) CIF; (1) Yellow-green liquid
(¢) Brk; (1) Black solid

(d) ICl4 (iv) Colorless gas

800 RIS DA TTOR TS WBHED F'Se c;':u“éué‘ 2SS0L0A.

S0%-1 S0 11
(a) IBr (1) JBo2 Gorb 200 Hurdo
(b) CIF; (i) DAY — LD Bo
(¢) BrF; (iif) Y Gorld RVETGo
d) ICl; (1v) GofOTR J°0i0)

Options:
(a—ii),(b—i),(c—iv),(d—iii)

1.
L & (a—1),(b—iii),(e—ii),(d —iv)

5 o (a—iii),(b—iv),(c—ii),(d—1)

4 x (a—iv),(b—ii),(c—i),(d—iii)

Question Number : 154 Question Id : 544734154 Display Question Number : Yes Is Question
Mandatory : No
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What is coordination of the metal in [Co(en),Cl,] ?

[Co(en),Cl,] & &2y DOATTL) D2OILED Doy Dodh?

Options:

1.% 3

Question Number : 155 Question Id : 544734155 Display Question Number : Yes Is Question
Mandatory : No

A compound 4 1s used 1n paints mstead of salts of lead. Compound 4 1s obtamned when a white
compound B 1s strongly heated. Compound B 15 insoluble in water but dissolves in NaOH
solution forming a solution of compound C. The compound A on heating with coke gives a
volatile metal D and a gas E' which burns with a blue flame. Identify the possible species D

and C can be respectively?

O6 VITVL) LERVT 28 H YR 4 0 Dowod’ T T, B ) 3y
A2 ¥T ) B3 3¢ B A & Tocsdeiond. B IS’ 60 5 NaOH grdeasnds
S0 € €0 2,8 0] ¥R TR D6YERD. 4 ) ¥ &) €8 DAvgae’ B¢
BB w8 17y 80 &P D ) 2080k B dorh 2008 ot 28 a0 E &
G\, D 208050 € %) foBotdolt?

Options:

.- D—Hg C—Hg(0H),
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D—Cd C—Na,[Cd0,]

2"

D—-—Zn C—Na, Zn 0,
3.9

D—Zn C—2Zn(0OH),
4, ®

Question Number : 156 Question Id : 544734156 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction.

& So6d ATWoWD d:dgé‘ &S dyo 28?

H+
(CGHIGOS)H + n H20 > ?
393 K

Starch
2-3 atm
6

Options:

Fructose

058

Vi

Glucose

(rES
2.

Lactose
S
-4 ]

3%

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Maltose
a7°e5°S

Question Number : 157 Question Id : 544734157 Display Question Number : Yes Is Question

Mandatory : No

The number of optical 1somers possible for 2 — Bromo 3 — Chloro butane are

2 - a3 - 88 arjid D0y0erie )8 Jresy3[s Doy

Options:
8

1. %

Question Number : 158 Question Id : 544734158 Display Question Number : Yes Is Question
Mandatory : No

During the action of enzyme “Zymase”, glucose 1s converted mnto . with the liberation of carbon

dioxide gas,

Ar83 D B8 doBd 6800 6] 50 T6)D EuF\G TANY MEVS T D6y

Options:
Phenol
T°e5

Y
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Ethanol
- RGOS

Methanol

- DESSS

Isopropyl alcohol

TIPS ) FS
4, ®

Question Number : 159 Question Id : 544734159 Display Question Number : Yes Is Question
Mandatory : No

The total number of products formed in the following reaction sequence is

& G aDE 5[ SANS’ oI GEVTO Vo) Jod?

i) (CH3),Cd
CH.CoOl —— 22 p)

R P il
. 3 4

Options:

Question Number : 160 Question Id : 544734160 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Mandatory : No

In the following reaction sequence, identify product ‘Q" and reagent ‘R":

308 t56{6° 0 200030 R e SERT
(i) Mg / Ether Cl
Me Br R /\
> —_— Me R
= (i) CO, 0 /\f(
(iii) H;0* 0
Options:
Me _,—COOH .4 socl,
1. o
MB/MOH and SO-,Cl,
2. % 0
Me—__/cooy and S0ClL
3, %
Me  ,—COOH a4 CH,50,Cl,
4, %
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